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Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 53

What is seven million, five hundred and eight thousand and twenty-nine in numerals?

A) 7 008 529

B) 7 058 290

C) 7 508 029

D) 7 580 029

Question 2 of 53

Express 10.83L in L and ml

A) 1 L 83 ml

B) 1 L 830 ml

C) 10 L 83 ml

D) 10 L 830 ml

Question 3 of 53

Find the product of 3000 and 120

A) 3600 

B) 36000

C) 360 000

D) 3 600 000
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Question 4 of 53

A) 4.027

B) 4.09

C) 4.27

D) 4.9

Question 5 of 53

A) DY

B) EZ

C) XY

D) YZ
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Question 6 of 53

A)

B)

C)

D)

Question 7 of 53

Express 4.3 as a percentage 

A) 43%

B) 430%

C) 0.43%

D) 0.043%
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A)

B)

C)

D)
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Question 9 of 53

A) 10 cm3

B) 11 cm3

C) 12 cm3

D) 13 cm3

Question 10 of 53

A) 43

B) 44

C) 126

D) 129
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Question 11 of 53

Box A is two times as heavy as Box B. Box C is three times as heavy as Box A. Box C
weighs 50g more than Box B. What is the mass of Box A?

A) 10 g

B) 20 g

C) 60 g

D) 90 g

Question 12 of 53

The ratio of the perimeter of two squares is 1:6. The perimeter of the smaller square is
12cm. What is the length of one side of the larger square?

A) 15 cm

B) 18 cm

C) 21 cm

D) 72 cm

Question 13 of 53

Emily had $600. She spent 40% of her money and saved the rest. How much did she
spend?

A) $240

B) $360

C) $560

D) $640
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Question 14 of 53

A) 30

B) 39

C) 69

D) 141

Question 15 of 53

A) $50

B) $52

C) $54

D) $60

Question 16 of 53

Find the value of 84 + (63-19)÷4
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Question 17 of 53

Question 18 of 53

Find the missing number



7: ___ = 49:63

Question 19 of 53

Find the value of 0.098x300

Question 20 of 53

14 children shared 4 cakes equally among themselves. What fraction of a cake did each
child get? Express your answer in its simplest form.

Question 21 of 53
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Question 22 of 53

Question 23 of 53
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Question 24 of 53

Question 25 of 53
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Question 26 of 53

Question 27 of 53

A painter takes 12 hours to paint 4 walls. How many hours will it take for the painter to paint
22 walls.

Question 28 of 53

The average of three different 2 digit numbers is 28. Of the tree numbers, find the largest
possible number 
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Question 29 of 53

Statement : Angle JNK is less than 90

A) True 

B) False 

C) Not possible to tell

Question 30 of 53

b) Angle JNK + Angle KNL + Angle MNL = 360

A) True

B) False

C) Not possible to tell
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Question 31 of 53

Please type "done" to proceed to the next question 

Question 32 of 53

The ratio of the length of Plank A to Plank B to Plank C is 5:8:6. The difference between the
length of Plank A and the length of Plank B is 2.25m. What is the length of Plank C?

Question 33 of 53

The usual price of a shirt $75. Cameron bought the shirt at a 15% discount. How much was
the discount?
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Question 34 of 53

John and Rachel had some buttons in the ratio 2:7. After John gave Rachel half of his
buttons, Rachel had 416 buttons in the end. How many buttons did John have in the end?

Question 35 of 53

Richard is four times as old as Monica. In 14 years' time, their total age will be 108. What is
Monica's age now?

Question 36 of 53

Barry had $50 000 in his bank account. The bank paid 1.9% interest at the end of each year.
How much interest did he earn at the end of one year?

Question 37 of 53

Question 38 of 53

At a carnival, Phoebe had a total of $5588 worth of coupons consisting of $2 and $5
coupons. There were 3 times as many $2 coupons as $5 coupons. How many $2 coupons
did she have?
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Question 39 of 53

Question 40 of 53
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Question 43 of 53

Question 44 of 53

b) How long did it take for the volume of water in the tank to be 25L?
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Question 45 of 53

c) How much water flowed from the tap into the tank in one minute?

Question 46 of 53

Question 47 of 53

b) Find angle c
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Question 48 of 53

Question 49 of 53

Adam booked 42 small and large buses for an excursion. There was a total of 1055 seats.
Each small bus had 15 seats and each large bus had 40 seats. How many large buses did
Adam book?
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Question 50 of 53

Question 51 of 53

b) Find the total number of squares for Figure 4.
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Question 52 of 53

c) Find the figure number with a total number of 123 squares.

Question 53 of 53


